

## ON A GAUSS-KUZMIN TYPE PROBLEM FOR PIECEWISE FRACTIONAL LINEAR MAPS WITH EXPLICIT INVARIANT MEASURE

C. GANATSIU

(Received 10 September 1999)

**ABSTRACT.** A random system with complete connections associated with a piecewise fractional linear map with explicit invariant measure is defined and its ergodic behaviour is investigated. This allows us to obtain a variant of Gauss-Kuzmin type problem for the above linear map.

**Keywords and phrases.** Piecewise fractional linear map, random system with complete connections, ergodic behaviour, Markov operator, invariant measure, Gauss-Kuzmin type problem.

2000 Mathematics Subject Classification. Primary 60A10.

**1. Introduction.** It is known that a map  $T : [0, 1] \rightarrow [0, 1]$  is called *piecewise fractional linear* if there is a partition  $D = \{0 = k_0 < k_1 < \dots < k_m = 1\}$  such that for every  $j = 1, 2, \dots, m$  the map is defined by

$$T(x) = \frac{A_j + B_j x}{C_j + D_j x}, \quad x \in (k_{j-1}, k_j), \quad (1.1)$$

where  $A_j D_j - B_j C_j \neq 0$  and  $T[(k_{j-1}, k_j)] = (0, 1)$ .

According to Schweiger [9, 10] such a map which satisfies the equalities  $T^0 = T^1 = 0$  and  $T'0 < 1$  is ergodic and admits an invariant measure. Its density  $h$  can be calculated explicitly and takes one of the following shapes:

$$h(x) = \frac{1}{x+a} - \frac{1}{x+\beta}, \quad h(x) = \frac{1}{(x+a)^2}, \quad h(x) = \frac{1}{x+a}, \quad h(x) = 1, \quad (1.2)$$

in the special case  $m = 2$ . But this is not true for  $m \geq 3$ .

In order to verify his idea, Schweiger [11] introduced a map  $T : [0, 1] \rightarrow [0, 1]$  defined by

$$T(x) = \begin{cases} \frac{x}{1 - (N+1)x}, & \text{if } 0 \leq x \leq \frac{1}{N+2}, \\ \frac{1-kx}{x}, & \text{if } \frac{1}{k+1} < x \leq \frac{1}{k} \text{ with } 1 \leq k \leq N+1, \end{cases} \quad (1.3)$$

where  $N$  is a fixed positive integer.

It is obvious that

$$T^n(x) = \begin{cases} \frac{T^{n-1}(x)}{1 - (N+1)T^{n-1}(x)}, & \text{if } 0 \leq T^{n-1}(x) \leq \frac{1}{N+2}, \\ \frac{1 - kT^{n-1}(x)}{T^{n-1}(x)}, & \text{if } \frac{1}{k+1} < T^{n-1}(x) \leq \frac{1}{k} \text{ with } 1 \leq k \leq N+1 \end{cases} \tag{1.4}$$

is the  $n$ th iteration of  $T$ ,  $n \in \{1, 2, \dots\}$ .

As a consequence he proved that  $T$  is a piecewise fractional linear map with  $n = N+2$  branches which admits an invariant measure with density

$$h(x) = \frac{1}{x} \sum_{j=0}^{\infty} \left( \frac{1}{1 + j(N+1)x} - \frac{1}{1 + (j(N+1)+1)x} \right). \tag{1.5}$$

The present paper arises as an attempt to find the limit

$$\lim_{n \rightarrow \infty} \mu(T^{-n} > \gamma) = \alpha \tag{1.6}$$

and an estimation of the error  $\mu(T^{-n} > \gamma) - \alpha$  for a pregiven nonatomic measure  $\mu$  on the  $\sigma$ -algebra  $B_{[0,1]}$  of all the Borel subsets of  $[0, 1]$  associated with the above explicit piecewise fractional linear map  $T$  arising in case that  $m \geq 3$ . That is to solve a variant of the Gauss-Kuzmin type problem for a piecewise fractional linear map with an explicit invariant measure.

Our approach is given in the context of the theory of dependence with complete connections (see [4]). For a more detailed study of the applications of dependence with complete connections to the metrical problems and other interesting aspects of number theory we refer the reader to [1, 2, 3, 5, 6, 7, 8] and others.

The paper is organized as follows. In Section 2, we define a random system with complete connections associated with the piecewise fractional linear map (1.3). In Section 3, we study the ergodic behaviour of the above random system. This gives us the possibility to obtain the asymptotic behaviour of the fact  $\{T^{-n} > \gamma\}$ ,  $\gamma \in [0, 1]$ , as  $n \rightarrow \infty$ , that is the associated Gauss-Kuzmin type problem.

In the next we need the following notation:

- $\aleph = \{0, 1, 2, \dots\}$ ,
- $\aleph^* = \{1, 2, 3, \dots\}$ ,
- $B_{[0,1]}$  is the  $\sigma$ -algebra of all Borel subsets of  $[0, 1]$ ,
- $P(X)$  is the power set of  $X$ .

**2. The random system with complete connections.** Let  $\mu$  be a nonatomic measure on the  $\sigma$ -algebra  $B_{[0,1]}$ . Then we may define

$$\begin{aligned} V_0(\gamma) &= \mu([0, \gamma]), \\ V_n(\gamma) &= V_n(\gamma, \mu) = \mu(T^n(x) < \gamma), \quad \gamma \in [0, 1], x \in [0, 1], n \in \aleph^*. \end{aligned} \tag{2.1}$$

**PROPOSITION 2.1** (the Gauss-Kuzmin type equation). *The function  $V_n$ ,  $n \in N$ , satisfy the equation*

$$V_{n+1}(\gamma) = V_n\left(\frac{\gamma}{1 + (N+1)\gamma}\right) + \sum_{k=1}^{N+1} \left[ 1 - V_n\left(\frac{1}{k+\gamma}\right) \right], \quad \gamma \in [0, 1]. \tag{2.2}$$

**PROOF.** Taking into account the relations (1.3) and (1.4) we obtain that, for every  $y \in [0, 1]$ ,

$$\begin{aligned}
 V_{n+1}(y) &= \mu(T^{n+1}(x) < y) \\
 &= \mu\left(\frac{T^n(x)}{1 - (N+1)T^n(x)} < y\right) + \sum_{k=1}^{N+1} \mu\left(\frac{1 - kT^n(x)}{T^n(x)} < y\right) \\
 &= \mu\left(T^n(x) < \frac{y}{1 + (N+1)y}\right) + \sum_{k=1}^{N+1} \mu\left(T^n(x) > \frac{1}{k+y}\right) \\
 &= V_n\left(\frac{y}{1 + (N+1)y}\right) + \sum_{k=1}^{N+1} \left[1 - V_n\left(\frac{1}{k+y}\right)\right],
 \end{aligned}
 \tag{2.3}$$

and the proof is complete. □

Furthermore, suppose that  $V'_0$  exists and it is bounded ( $\mu$  has bounded density). Then by induction we have that  $V'_n$  exists and it is bounded for any  $n \in \mathbb{N}^*$ . If we derive the Gauss-Kuzmin type equation (2.2) we arrive at

$$\begin{aligned}
 V'_{n+1}(y) &= \frac{1}{[1 + (N+1)y]^2} V'_n\left(\frac{y}{1 + (N+1)y}\right) \\
 &\quad + \sum_{k=1}^{N+1} \frac{1}{(k+y)^2} V'_n\left(\frac{1}{k+y}\right), \quad y \in [0, 1].
 \end{aligned}
 \tag{2.4}$$

We denote

$$\rho(y) = \frac{1}{y} \sum_{j=0}^{\infty} \left( \frac{1}{1 + j(N+1)y} - \frac{1}{1 + (j(N+1)+1)y} \right)
 \tag{2.5}$$

and

$$f_n(y) = \frac{V'_n(y)}{\rho(y)}, \quad y \in [0, 1], \quad n \in \mathbb{N}.
 \tag{2.6}$$

Then the relation (2.4) becomes

$$\begin{aligned}
 f_{n+1}(y) &= \frac{\sum_{j=0}^{\infty} \left[ \frac{1}{1 + (j+1)(N+1)y} - \frac{1}{1 + [(j+1)(N+1)+1]y} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1 + j(N+1)y} - \frac{1}{1 + [j(N+1)+1]y} \right]} f_n\left(\frac{y}{1 + (N+1)y}\right) \\
 &\quad + \sum_{k=1}^{N+1} \frac{\sum_{j=0}^{\infty} \left[ \frac{y}{k+y+j(N+1)} - \frac{y}{k+y+1+j(N+1)} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1 + j(N+1)y} - \frac{1}{1 + [j(N+1)+1]y} \right]} f_n\left(\frac{1}{k+y}\right), \quad y \in [0, 1].
 \end{aligned}
 \tag{2.7}$$

We can now prove the following proposition.

**PROPOSITION 2.2.** *The function*

$$P(y, k) = \begin{cases} \frac{\sum_{j=0}^{\infty} \left[ \frac{1}{1+(j+1)(N+1)y} - \frac{1}{1+[(j+1)(N+1)+1]y} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]}, & \text{if } k = 0, \\ \frac{\sum_{j=0}^{\infty} \left[ \frac{y}{k+y+j(N+1)} - \frac{y}{k+y+1+j(N+1)} \right]}{\sum_{k=1}^{N+1} \frac{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]}}, & \text{if } 1 \leq k \leq N+1, \end{cases} \tag{2.8}$$

defines a transition probability function from  $([0, 1], \mathcal{B}_{[0,1]})$  to  $(K, P(K))$ , where  $K = \{k \in \mathfrak{N} \mid 0 \leq k \leq N+1, N \text{ fixed positive integer}\}$ .

**PROOF.** We must prove that

$$\sum_{k=0}^{N+1} P(y, k) = 1, \quad \forall y \in [0, 1]. \tag{2.9}$$

Indeed since

$$\sum_{k=1}^{N+1} \sum_{j=0}^{\infty} \left[ \frac{y}{k+y+j(N+1)} - \frac{y}{k+y+1+j(N+1)} \right] = \frac{y}{y+1}, \tag{2.10}$$

we have that

$$\begin{aligned} \sum_{k=0}^{N+1} P(y, k) &= P(y, 0) + \sum_{k=1}^{N+1} P(y, k) \\ &= \frac{1}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]} \\ &\quad \times \left( \sum_{j=0}^{\infty} \left[ \frac{1}{1+(j+1)(N+1)y} - \frac{1}{1+[(j+1)(N+1)+1]y} \right] + \frac{y}{y+1} \right). \end{aligned} \tag{2.11}$$

By replacing  $j+1$  with  $m$  in the second sum we obtain that

$$\begin{aligned} &\sum_{j=0}^{\infty} \left[ \frac{1}{1+(j+1)(N+1)y} - \frac{1}{1+[(j+1)(N+1)+1]y} \right] + \frac{y}{y+1} \\ &= \sum_{m=1}^{\infty} \left[ \frac{1}{1+m(N+1)y} - \frac{1}{1+[m(N+1)+1]y} \right] + \frac{y}{y+1} \\ &= \sum_{m=0}^{\infty} \left[ \frac{1}{1+m(N+1)y} - \frac{1}{1+[m(N+1)+1]y} \right], \end{aligned} \tag{2.12}$$

and the proof is complete. □

Relation (2.7) and Proposition 2.2 lead to the definition of random system with complete connections (RSCC),

$$\{(Y, \mathfrak{Y}), (K, \mathfrak{K}), u, P\}, \tag{2.13}$$

where

$$\begin{aligned}
 Y &= [0, 1], & \mathcal{Y} &= B_{[0,1]}, \\
 K &= \{k \in \mathfrak{N} \mid 0 \leq k \leq N + 1, N \text{ fixed positive integer}\}, & \mathcal{K} &= P(K), \\
 u(y, k) &= \begin{cases} \frac{y}{1 + (N + 1)y}, & \text{if } k = 0, \\ \frac{1}{k + y}, & \text{if } 1 \leq k \leq N + 1, \end{cases} \\
 P(y, k) &= \begin{cases} \frac{\sum_{j=0}^{\infty} \left[ \frac{1}{1+(j+1)(N+1)y} - \frac{1}{1+[(j+1)(N+1)+1]y} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]}, & \text{if } k = 0, \\ \frac{\sum_{j=0}^{\infty} \left[ \frac{y}{k+y+j(N+1)} - \frac{y}{k+y+1+j(N+1)} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]}, & \text{if } 1 \leq k \leq N + 1. \end{cases}
 \end{aligned} \tag{2.14}$$

**3. The ergodic behaviour of the random system with complete connections.** For any complex-valued function  $f$  defined on  $Y$ , we put

$$|f| = \sup_{y \in Y} |f(y)|, \quad s(f) = \sup_{y_1 \neq y_2 \in Y} \frac{|f(y_1) - f(y_2)|}{|y_1 - y_2|}. \tag{3.1}$$

If we denote by  $L(Y)$  the set of all complex-valued measurable bounded Lipschitz functions defined on  $Y$  for which both  $|f| < \infty$  and  $s(f) < \infty$ , then it is clear that  $L(Y)$  is a Banach space under the norm  $\|f\|_L = |f| + s(f)$ .

Furthermore, let  $Q$  denotes the transition probability function of the Markov chain associated with RSCC (2.13). Then the Markov operator  $U$  associated with RSCC (2.13) is given by

$$\begin{aligned}
 Uf(y) &= \sum_{k \in K} P(y, k) f(u(y, k)) = \int_0^1 Q(y, dy') f(y') \\
 &= \frac{\sum_{j=0}^{\infty} \left[ \frac{1}{1+(j+1)(N+1)y} - \frac{1}{1+[(j+1)(N+1)+1]y} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]} f\left(\frac{y}{1 + (N + 1)y}\right) \\
 &\quad + \sum_{k=1}^{N+1} \frac{\sum_{j=0}^{\infty} \left[ \frac{y}{k+y+j(N+1)} - \frac{y}{k+y+1+j(N+1)} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]} f\left(\frac{1}{k + y}\right), \quad y \in [0, 1]
 \end{aligned} \tag{3.2}$$

for all  $f \in L(Y)$ .

In order to study the ergodic behaviour of the RSCC (2.13) we prove the following.

**PROPOSITION 3.1.** *RSCC (2.13) is a RSCC with contraction and its associated Markov operator given by (3.2) is regular with respect to  $L(Y)$ .*

**PROOF.** We have to prove that  $R_1 < \infty$  and  $r_1 < 1$ , where  $r_1$  and  $R_1$  are defined in [4]. To this end, we calculate the derivatives of  $u$  and  $P$  with respect to  $y$ . We have that

$$\begin{aligned} & \frac{dP(y, 0)}{dy} \\ &= \frac{\sum_{j=0}^{\infty} \left[ -\frac{(j+1)(N+1)}{[1+(j+1)(N+1)y]^2} + \frac{(j+1)(N+1)+1}{[1+(j+1)(N+1)+1]y^2} \right] \sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]}{\left( \sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+(j(N+1)+1)y} \right] \right)^2} \\ & \quad - \frac{\sum_{j=0}^{\infty} \left[ \frac{1}{1+(j+1)(N+1)y} - \frac{1}{1+[(j+1)(N+1)+1]y} \right] \sum_{j=0}^{\infty} \left[ -\frac{j(N+1)}{[1+j(N+1)y]^2} + \frac{j(N+1)+1}{[1+(j(N+1)+1)y]^2} \right]}{\left( \sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+(j(N+1)+1)y} \right] \right)^2}, \\ & \frac{dP(y, k)}{dy} \\ &= \frac{\sum_{j=0}^{\infty} \left[ \frac{k+j(N+1)}{[k+y+j(N+1)]^2} - \frac{k+1+j(N+1)}{[k+y+1+j(N+1)]^2} \right] \sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+[j(N+1)+1]y} \right]}{\left( \sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+(j(N+1)+1)y} \right] \right)^2} \\ & \quad - \frac{\sum_{j=0}^{\infty} \left[ \frac{y}{k+y+j(N+1)} - \frac{y}{k+y+1+j(N+1)} \right] \sum_{j=0}^{\infty} \left[ -\frac{j(N+1)}{[1+j(N+1)y]^2} + \frac{j(N+1)+1}{[1+(j(N+1)+1)y]^2} \right]}{\left( \sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)y} - \frac{1}{1+(j(N+1)+1)y} \right] \right)^2}, \end{aligned} \tag{3.3}$$

where  $1 \leq k \leq N + 1$  for every  $y \in [0, 1]$ .

Also

$$\frac{du(y, k)}{dy} = \begin{cases} \frac{1}{[1+(N+1)y]^2}, & \text{if } k = 0, \\ -\frac{1}{(k+y)^2}, & \text{if } 1 \leq k \leq N+1 \end{cases} \tag{3.4}$$

for every  $y \in [0, 1]$ .

Therefore

$$\begin{aligned} & \sup_{y \in Y} \left| \frac{dP(y, k)}{dy} \right| < \infty, \quad k \in K, \\ & \sup_{y \in Y} \left| \frac{du(y, 0)}{dy} \right| = 1, \quad \text{if } k = 0, \\ & \sup_{y \in Y} \left| \frac{du(y, k)}{dy} \right| \leq \frac{1}{k^2}, \quad \text{if } 1 \leq k \leq N+1. \end{aligned} \tag{3.5}$$

It follows (cf. [4, pages 177-178]) that  $R_1 < \infty$  and  $r_1 < 1$ , that is RSCC (2.13) is a RSCC with contraction. □

Now, in order to prove the regularity of the associated Markov operator  $U$  defined by (3.2) with respect to  $L(Y)$  we have, according to Theorem 3.2.13 in [4], to find an element  $y^*$  in  $[0, 1]$  such that

$$\lim_{n \rightarrow \infty} |\sigma_n(y) - y^*| = 0 \tag{3.6}$$

for any  $\gamma \in Y$ . Here  $\sigma_n(\gamma)$  denotes the support of  $Q^n(\gamma, \cdot)$ , where  $Q^n$  is the kernel of  $U^n$ .

Let  $\gamma \in Y$ . We define the iterative relation

$$\gamma_{n+1} = \frac{1}{\gamma_n + 1}, \quad n \in \mathbb{N}, \text{ with } \gamma_0 = \gamma. \tag{3.7}$$

It is clear that  $\gamma_n \in (0, 1)$ ,  $n \in \mathbb{N}^*$ . Letting  $n \rightarrow \infty$  in (3.7) we have

$$0 < \gamma^* = \lim_{n \rightarrow \infty} \gamma_n = \frac{\sqrt{5} - 1}{2} < 1. \tag{3.8}$$

Now, let  $A$  be an open set in  $[0, 1]$  such that  $\gamma_{n+1} \in A$ . Then

$$Q(\gamma_n, A) = \sum_{\{k \in K, u(\gamma_n, k) \in A\}} P(\gamma_n, k) \tag{3.9}$$

is strictly positive. So  $\gamma_{n+1} \in \sigma_1(\gamma_n)$  and using [4, Lemma 3.2.14] we obtain by induction that  $\gamma_n \in \sigma_n(\gamma)$ , for any  $n \in \mathbb{N}^*$ . Since

$$|\sigma_n(\gamma) - \gamma^*| = \inf_{\gamma' \in \sigma_n(\gamma)} |\gamma^* - \gamma'| \leq |\gamma^* - \gamma_n| \xrightarrow{n \rightarrow \infty} 0, \tag{3.10}$$

we obtain that  $U$  is regular, that is the desired result.

By virtue of Proposition 3.1, it follows from [4, Theorem 3.4.5] that RSCC (2.13) is uniformly ergodic. Moreover, Theorem 3.1.24 [4] implies that  $Q^n(\cdot, \cdot)$  converges uniformly to a unique probability measure  $\gamma$  on  $\mathfrak{y}$ , which is stationary for the kernel  $Q$ , that is

$$\gamma(B) = \int_0^1 Q(\gamma, B) \gamma(d\gamma), \tag{3.11}$$

where

$$Q(\gamma, B) = \sum_{k \in B_\gamma} P(\gamma, k), \tag{3.12}$$

with

$$\begin{aligned} B_\gamma &= \{k \in K \mid u(\gamma, k) \in B\} \\ &= \begin{cases} \{k = 0 \mid u(\gamma, k) \in B\} \equiv B_\gamma^{(1)}, \\ \{k \in K \setminus \{0\} \mid u(\gamma, k) \in B\} \equiv B_\gamma^{(2)}, \end{cases} \quad \forall B \in \mathfrak{y}, \gamma \in [0, 1]. \end{aligned} \tag{3.13}$$

Furthermore, there exist two positive constants  $q < 1$  and  $c$  such that

$$\|U^n f - U^\infty f\|_L \leq cq^n \|f\|_L \tag{3.14}$$

for all  $n \in \mathbb{N}^*$ ,  $f \in L(Y)$ , where

$$U^\infty f = \int_0^1 f(\gamma) \gamma(d\gamma). \tag{3.15}$$

In general, the form of  $\gamma$  cannot be determined but this is possible in our case as we prove in the following proposition.

**PROPOSITION 3.2.** *The probability measure  $\gamma$  has the density*

$$\rho(\gamma) = \frac{1}{\gamma} \sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)\gamma} - \frac{1}{1+(j(N+1)+1)\gamma} \right], \quad \gamma \in [0,1]. \tag{3.16}$$

**PROOF.** By virtue of uniqueness of  $\gamma$  we have to show that it satisfies (3.11). Since the intervals  $[0, u]$ ,  $0 < u \leq 1/(N+2)$  and  $(v, 1/k]$ ,  $1/(k+1) \leq v < 1/k$  with  $k = 1, 2, \dots, N+1$  generate  $B_{[0,1]}$  it is sufficient to verify (3.11) only for  $B = [0, u]$  and  $B = (v, 1/k]$ .

Suppose that  $B = [0, u]$  with  $0 < u \leq 1/(N+2)$ . Then for  $\gamma \in [0,1]$  we have

$$B_{\gamma}^{(1)} = \left\{ k = 0 \mid \frac{\gamma}{1+(N+1)\gamma} \in [0, u] \right\} = \left\{ k = 0 \mid 0 \leq \gamma \leq \frac{u}{1-(N+1)u} \right\}, \tag{3.17}$$

$$B_{\gamma}^{(2)} = \left\{ 1 \leq k \leq N+1 \mid \frac{1}{k+\gamma} \in [0, u] \right\} = \{ 1 \leq k \leq N+1 \mid k \geq u^{-1} - \gamma \} = \emptyset. \tag{3.18}$$

So by (3.12) we have that

$$Q(\gamma, [0, u]) = P(\gamma, 0) = \frac{\sum_{j=0}^{\infty} \left[ \frac{1}{1+(j+1)(N+1)\gamma} - \frac{1}{1+[(j+1)(N+1)+1]\gamma} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)\gamma} - \frac{1}{1+[j(N+1)+1]\gamma} \right]}. \tag{3.19}$$

Consequently, we obtain that

$$\begin{aligned} & \int_0^1 Q(\gamma, [0, u]) \rho(\gamma) d\gamma \\ &= \int_0^{u/(1-(N+1)u)} P(\gamma, 0) \rho(\gamma) d\gamma \\ &= \int_0^{u/(1-(N+1)u)} \sum_{j=0}^{\infty} \left[ \frac{1}{\gamma[1+(j+1)(N+1)\gamma]} - \frac{1}{\gamma[1+((j+1)(N+1)+1)\gamma]} \right] d\gamma \\ &= \sum_{j=0}^{\infty} \left[ -\log \left( 1+(j+1)(N+1) \frac{u}{1-(N+1)u} \right) \right. \\ &\quad \left. + \log \left( 1+((j+1)(N+1)+1) \frac{u}{1-(N+1)u} \right) \right] \\ &= \sum_{j=0}^{\infty} \left[ \log \frac{1+(j(N+1)+1)u}{1+j(N+1)u} \right] = \rho([0, u]). \end{aligned} \tag{3.20}$$

Hence (3.11) is verified for  $B = [0, u]$ ,  $0 < u \leq 1/(N+2)$ .

The case  $B = (v, 1/k]$ ,  $1/(k+1) \leq v < 1/k$ ,  $k = 1, 2, \dots, N+1$  can be treated in a similar manner. Analogously for  $\gamma \in [0,1]$  we have that

$$\begin{aligned} B_{\gamma}^{(1)} &= \left\{ k = 0 \mid \frac{\gamma}{1+(N+1)\gamma} \in \left( v, \frac{1}{k} \right] \right\} = \emptyset, \\ B_{\gamma}^{(2)} &= \left\{ 1 \leq k \leq N+1 \mid \frac{1}{k+\gamma} \in \left( v, \frac{1}{k} \right] \right\} = \left\{ 1 \leq k \leq N+1 \mid 0 \leq \gamma < \frac{1-kv}{v} \right\}. \end{aligned} \tag{3.21}$$



By using (3.12) we obtain that

$$\begin{aligned}
 Q\left(\gamma, \left(v, \frac{1}{k}\right)\right) &= \sum_{k \in B_\gamma} P(\gamma, k) = \sum_{k=1}^{N+1} P(\gamma, k) \\
 &= \sum_{k=1}^{N+1} \frac{\sum_{j=0}^{\infty} \left[ \frac{\gamma}{k+\gamma+j(N+1)} - \frac{\gamma}{k+\gamma+1+j(N+1)} \right]}{\sum_{j=0}^{\infty} \left[ \frac{1}{1+j(N+1)\gamma} - \frac{1}{1+[j(N+1)+1]\gamma} \right]}.
 \end{aligned}
 \tag{3.22}$$

As a consequence we have

$$\begin{aligned}
 &\int_0^{(1-kv)/v} Q\left(\gamma, \left(v, \frac{1}{k}\right)\right) \rho(\gamma) d\gamma \\
 &= \sum_{k=1}^{N+1} \int_0^{(1-kv)/v} P(\gamma, k) \rho(\gamma) d\gamma \\
 &= \sum_{k=1}^{N+1} \int_0^{(1-kv)/v} \sum_{j=0}^{\infty} \left[ \frac{1}{k+\gamma+j(N+1)} - \frac{1}{k+\gamma+1+j(N+1)} \right] d\gamma \\
 &= \sum_{k=1}^{N+1} \sum_{j=0}^{\infty} \left[ \log\left(k + \frac{1-kv}{v} + j(N+1)\right) - \log(k+j(N+1)) \right. \\
 &\quad \left. + \log\left(k + \frac{1-kv}{v} + 1 + j(N+1)\right) - \log(k+1+j(N+1)) \right] \\
 &= \sum_{k=1}^{N+1} \sum_{j=0}^{\infty} \left[ \log \frac{1+j(N+1)v}{1+(j(N+1)+1)v} + \log \frac{k+1+j(N+1)}{k+j(N+1)} \right] \\
 &= \sum_{k=1}^{N+1} \rho\left(\left(v, \frac{1}{k}\right)\right).
 \end{aligned}
 \tag{3.23}$$

Hence (3.11) is also verified for  $B = (v, 1/k]$ ,  $1/(k+1) \leq v < 1/k$  with  $k = 1, 2, \dots, N+1$  and the proof is complete. □

**4. A version of the Gauss-Kuzmin type theorem.** Now, we are able to determine the limit of  $\mu(T^{-n} > \gamma)$  as  $n \rightarrow \infty$  and give the rate of this convergence.

**PROPOSITION 4.1.** *If the density  $V'_0$  of  $\mu$  is a Riemann integrable function, then*

$$\lim_{n \rightarrow \infty} \mu(T^{-n}(x) > \gamma) = \sum_{j=0}^{\infty} \left[ \log \frac{\gamma+1+j(N+1)}{\gamma+j(N+1)} \right], \quad \gamma \geq 1, x \in [0, 1]. \tag{4.1}$$

*If the density  $V'_0$  of  $\mu$  is an element of  $L(Y)$ , then there exist two positive constants  $c$  and  $q < 1$  such that*

$$\lim_{n \rightarrow \infty} \mu(T^{-n}(x) > \gamma) = (1 + \theta q^n) \sum_{j=0}^{\infty} \left[ \log \frac{\gamma+1+j(N+1)}{\gamma+j(N+1)} \right], \quad x \in [0, 1] \tag{4.2}$$

for all  $\gamma \geq 1$ ,  $n \in \mathbb{N}^*$ , where  $\theta = \theta(\mu, n, \gamma)$  with  $|\theta| \leq c$ .

**PROOF.** Let  $V'_0 \in L(Y)$ . Then  $f_0 \in L(Y)$  and by using (3.15) we have

$$U^\infty f_0 = \int_0^1 f_0(y) \mathcal{Y}(d\mathcal{Y}) = \int_0^1 V'_0(\mathcal{Y}) d\mathcal{Y} = 1. \quad (4.3)$$

According to relation (3.14) there exist two positive constants  $c$  and  $q < 1$  such that

$$U^n f_0 = U^\infty f_0 + G^n f_0, \quad n \in N^*, \quad (4.4)$$

with  $\|G^n f_0\|_L \leq cq^n$ .

If we consider the Banach space  $C([0,1])$  of all real continuous functions defined on  $[0,1]$  with the norm  $|\cdot| = \sup |\cdot|$ , then since  $L([0,1])$  is a dense subset of  $C([0,1])$  we have

$$\lim_{n \rightarrow \infty} |G^n f_0| = 0 \quad \forall f_0 \in C([0,1]). \quad (4.5)$$

This means that (4.5) is valid for any measurable function  $f_0$  which is  $\mathcal{Y}$ -almost surely continuous, that is, for any Riemann integrable function  $f_0$ . Consequently, we obtain

$$\begin{aligned} \lim_{n \rightarrow \infty} \mu(T^{-n}(x) > \mathcal{Y}) &= \lim_{n \rightarrow \infty} V_n\left(\frac{1}{\mathcal{Y}}\right) = \lim_{n \rightarrow \infty} \int_0^{1/\mathcal{Y}} U^n f_0(w) \rho(w) dw \\ &= \int_0^{1/\mathcal{Y}} \rho(w) dw = \sum_{j=0}^{\infty} \left[ \log \frac{\mathcal{Y} + 1 + j(N+1)}{\mathcal{Y} + j(N+1)} \right], \end{aligned} \quad (4.6)$$

that is the solution of the associated Gauss-Kuzmin type theorem. □

#### REFERENCES

- [1] C. Ganatsiou, *A random system with complete connections associated with a generalized Gauss-Kuzmin operator*, Rev. Roumaine Math. Pures Appl. **40** (1995), no. 2, 85-89. MR 97h:11082. Zbl 865.11055.
- [2] M. Iosifescu, *On the application of random systems with complete connections to the theory of  $f$ -expansions*, Colloq. Math. Soc. János Bolyai **9** (1974), 335-363, Progress in Statistics (European Meeting Statisticians, Budapest, 1972). MR 51#8063. Zbl 299.60077.
- [3] ———, *Recent advances in the metric theory of continued fractions*, Transactions of the Eighth Prague Conference on Information Theory, Statistical Decision Functions, Random Processes (Prague, 1978), vol. A, Reidel, Dordrecht-Boston, Mass., 1978, pp. 27-40. MR 80h:10059. Zbl 406.10041.
- [4] M. Iosifescu and S. Grigorescu, *Dependence with Complete Connections and its Applications*, Cambridge Tracts in Mathematics, vol. 96, Cambridge University Press, Cambridge, 1990. MR 91j:60098. Zbl 749.60067.
- [5] M. Iosifescu and A. Spătăru, *On denumerable chains of infinite order*, Z. Wahrscheinlichkeitstheorie und Verw. Gebiete **27** (1973), 195-214. MR 51#6997. Zbl 266.60064.
- [6] S. Kalpazidou, *On a random system with complete connections associated with the continued fraction to the nearer integer expansion*, Rev. Roumaine Math. Pures Appl. **30** (1985), no. 7, 527-537. MR 87i:11100. Zbl 576.60100.
- [7] ———, *On some bidimensional denumerable chains of infinite order*, Stochastic Process. Appl. **19** (1985), no. 2, 341-357. MR 86m:60245. Zbl 627.60110.
- [8] ———, *On the application of dependence with complete connections to the metrical theory of  $G$ -continued fractions. Dependence with complete connections*, Litovsk. Mat. Sb. **27** (1987), no. 1, 68-79, English translation: Lithuanian Math. J. **27** (1987), no. 1, 32-40. MR 88m:11063. Zbl 644.10035.

- [9] F. Schweiger, *Ergodic properties of piecewise fractional linear maps*, Arbeitsber. Ber. Math. Inst. Univ. Salzburg **4** (1981), 23–32. Zbl 471.28012.
- [10] ———, *Invariant measures for piecewise linear fractional maps*, J. Austral. Math. Soc. Ser. A **34** (1983), no. 1, 55–59. MR 85e:28027. Zbl 514.28012.
- [11] ———, *Piecewise fractional linear maps with explicit invariant measure*, Österreich. Akad. Wiss. Math. Natur. Kl. Sitzungsber. II **195** (1986), no. 1-3, 171–174. MR 88m:11064. Zbl 623.28011.

C. GANATSIU: TECHNOLOGICAL EDUCATIONAL INSTITUTE OF LARISSA, SCHOOL OF TECHNOLOGICAL APPLICATIONS, DEPARTMENT OF EXACT SCIENCES, SECTION OF MATHEMATICS, LARISSA, GREECE



# Hindawi

Submit your manuscripts at  
<http://www.hindawi.com>

